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Strategy for solving Ax=¢ decomposition
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① Find L and
U such that A =L . U
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Ax -- b⇒ LU x = to

(a) Solve LE
lo by FORWARD substitution% Solve Ux = Z by BACK substitution↳ t-detcat-detaat-defofD.de#oa )



Costs In terms of # of H- and */÷
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① L 2- = to
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Exe : A = U , solve Ux = b upper triangular
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Note : cost to solve Lz=b
0cm)
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Row
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Elementary Rou Operations
- Eto)
① multiply any row by
a non - zero

constant
CR; → Ri

② add a multiple ofone

row to
another CRitRj → Rj

canyo)

③ interchange two rows R ; 2-7 Rj

Each leaves the solution X unchanged
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[Fitz ¥ ! Back substitution !

⇒ 4×3=4 ⇒ X, =I

⇒ X. = C-I - X37/2=-42
=
-I

⇒ X , = ( c - Xr
-3×5/2

= (l - C- is - 3)Iz =
-I
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